
SUMMARY OUTPUT K=290000

Regression Statistics
Multiple R 0.9328439
R Square 0.8701977
Adjusted R Square 0.8645541
Standard Error 0.3226165
Observations 25

ANOVA
df SS MS F Significance F

Regression 1 16.048577 16.048577 154.19257 1.114E-11
Residual 23 2.3938719 0.1040814
Total 24 18.442449

Coefficients Standard Error t Stat P-value Lower 95% Upper 95%
Intercept -219.9182 17.689861 -12.431878 1.088E-11 -256.51242 -183.32398
b 0.1111083 0.0089478 12.41743 1.114E-11 0.0925985 0.1296182

Intercept = bt0 tnought (inflection year)
t0=Intercept/-b 1979.3135
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